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���!
"��#��  

  
1.  9%2���3��
����� ��+������������������
�������
���6�������  :+��2��
�����9%2���;*���9����������<�+=�  
2.  ���%������>?'�1�������>?'�1������%�2�9�@��� night session ����&)���3�� ���+������
, (�����/=��) *����+ �%�@� =+2���%�+���)�������'� 9%2<?������6����>?'�1���&)���+1K'�9����
������<�+=� 
3. 9%2���3��*�+��� �����������
�������������������
�������
�1�����������9%�������1� (<2��&)  :+� �+���+
�
2��1�� ����������9� ����������6�%�������  
      �/31��%�K)������'� ��%2��������
,1K'�=�9%2�L+��6�%�K)����   ��9���
�?)��%���*����
 "," %���%������ ��%����2��  ��2����'��?)� ��������+�������*����� 1 @�+   
      ���OP��������
����*���%�2� ��
2�%��������,  ���������
��������� �.�.�.  9����&+���&'  

  
12��8�1������&)�2���?)� �������� ���%�+��� �������������� 

  

���&����  :  ��'������������+�2��1���+?����6����*����� R �+?��      ���9�����&) 7 1���+?��<�+=� 
    
���& NCR �12�9��21�'��)���&)������������%�+  :  ��'������6���������+������9����&�&)�12����V,�2����������������/  
���������
��������� �.�.�.  ���+2�����
����� ��������������
�������������������
�������
�     
:+�9%2������   
       ��'� ��  :  ����&)���3�����)��&��������������
�������
��������%�?��2������������������12�+�������      ���9� 1 ���������<�+*������&)*�+��������� 
       *�<K�  :  ����&)���3�����)��&��������������
�������
��������������������12�+���������6����� 2 �����������+������  

 



�������� 	 
��
�� 1 �.�. 54  


���
�������������
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���� �� �.�. 4/1              2 
 

��	
�� ��������	 

������� 1  :  ��
����������������  

1.  �����+ ������O��
��
�� 
�����   ���%�&���3���,�&)���3���&��8�  ����O��
��
�����������  ��������O�� (Negotiable Certificate of Deposit : NCD) �&)���:+� 

��
������@�,%�?��<������������?)�  �����<K���������)�*���9+ R �&)���O��
��
����?)���&����;��������&�����%�����@&��%���� 

��
��>K)���&����;�=+2���9����������<�+=�  ��'��&' =�����������+�������*���8�9����@&1�����3�� %�?����@&1�����3����?)��8�
2� (segregated 
account) ��������/���+2�� ��� �����@&����1���8�
2�  
  ���
������������&) 1 9������&)��6�����O��  9%29@2��+����O��9����@&  :+�=���2��
�����+����&'�
2�������6�������   

2.  ��a������9@2���� ����a� ������ 
    �&)���/�����:+��<����������� %�?� 
     ���/�����:+���
,����
��. 
 
 
 
 

��a������9@2����  ����a� �������&)���/�����:+��<���������������b%������+2��+����&'�����9%2�82�?�1���<����������� %�?����/����� 
:+���
,����
��.%�?���.����%��* �&)��.���
'��������  ��'��&' =�����*���6���a�1�����3�� %�?���a�1�����3����?)��8�
2� (segregated account)  
  ��������/���+2����� �����@&����1���8�
2�  
  �<�������������)�=�/��
,����
��. %���<K� �<������������&)��c++���������=+2������� ��
,����
��.%�?���.����%��* :+���a�*��2���&����

��%�?�=������ 6 �+?�� 
  ���&�&)���3��O������%�?��&��a������9@2�����&)���:+�
��
���&)�&���3��1��������
, O� 9%2���3��
�����
��
�����&)���@���+&��������&����
�����9������&) 3 

3.  %��������,>?'�:+��&�����*�1��
?� 
 

%��������,�&)���3��>?'�:+��&��������*�1��
?�  9%2
�������������,����
�������
�  :+����&����&����%���� "��
�1��
?� � �L**����" ���  
"%���������%���%��
��
�����&)��" 1��
8������ ������� +���&' 

     �.  ��
�1��
?� � �L**���� 
 

��
�>?'� ���+2�� +����&'�
2����� � ����&)������ 
+����&'�
2����� = ��
�>?'� x �����+����&'��������� x ����������'� ������&)>?'�<K�����&)������ / 365 ��� 
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     1.  %��������� �8�
�������
����+ � ����&)������1��%��������,�&)���3��>?'�=�2:+��&�����*�1��
?�   
     
.  
��
�����&)�� 
 
 


��
�����&)��1��%��������� = %��������� x �����
�����&)��1��%�����������������'�  (9%2
����������
& fixed-haircut approach  
�&)���%�+9������&) 3 : ���������) 
"%���������%���%��
��
�����&)��"  %���<K�  %��������� (1)  %��+2��  
��
�����&)�� (
) 

      3.1  %���������%���%��
��
�����&)�� 
      
�2�%�&' 

%���<K�  
8����������&) "��
�1��
?� � �L**����" �)������%�?�������� "%���������%���%��
��
�����&)��"  :+�9�@���  �. 1.   �� 
.   
9%29@27����1����
�1��
?� � �L**���� %���������   ��
��
�����&)��  ������+��  1��
8�������������&)%���������%���%��
��
�����&)�� 

�2�%�&' ��9�@��� 3.1  9%29@2 "��
�1��
?� � �L**����" ���@��� �.  ��6���������,����
�������
� 

           3.2  %���������%���%��
��
�����&)��  
=��
�2�%�&' 

%���<K�  
8����������&) "��
�1��
?� � �L**����" ������� "%���������%���%��
��
�����&)��"  :+�9�@��� �. 1.  �� 
.  9%29@27����1��   
 ��
�1��
?� � �L**����  %���������   ��
��
�����&)��  ������+��  1��
8�������������&)%���������%���%��
��
�����&)��=��
�2�%�&'   �� 
 9�@��� 3.2  9%29@2 "�8�
��%���������" ���@��� 1.  %��+2��  "
��
�����&)��"  ���@��� 
.  ��6���������,����
�������
� 

4.  ���������  (*�������&) 3) %��������, %�?������������������&)��8�9�
���
���
���1�����3���&)��������6���������,����
����9�%��12����������=+2  ��'��&' 
 ���<K�����&.��������>?'�1������%�2� (=�������a������9@2���� ����a� �������&)���/�����:+��<�����������  ��%��������,>?'�:+��&  
 �����*�1��
?�  >K)�=+2������=�2 �2�9�12� 2  �� 12� 3 1�������&) 1 ������+��)  :+� 
             9�@��� �. 1�������&) 1  9%29@2
���&)
�����=+2*�� �����
������������&�+���������9������&) 3 %�2� 2  9������+ 
��� ��������,����
����   
             9�@��� 
. 1�������&) 1  9%29@2
���&)
�����=+2*�������&) 3 %�2� 4  9������+  ��� 
��
�����&)��   
             9�@��� 4  1�������&) 1  9%2
�������������,����
�������
�:+�9@2 g�8�
�����������h ���@��� �. %��+2�� g
��
�����&)��h ���@��� 
. 
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 5.  �8�%�&'>?'�%��������,���
����)� 
 

�8�%�&'�&)���+*�����������
����*���%�2� 
2�%��������, 

      5.1  �8�%�&'���@&�����+ 
 

 ���@&1���8�%�&'�&)��)�>?'�%��������,+2�������+  :+�=������8�%�&'�&)��8���%�������ij���2�����
��
+&  ������%�&'  %�?�7���@����   

             5.1.1  �8�%�&'���=���2����%�+@����  �8�%�&'>?'�%��������,�&)��8���%���������&��@��������  >K)����=���2����%�+����@�����������9� T + 3 ���%������������%�?� T+2 ���%��� 
������%�&'  

                       �.  �8�%�&'  ��+����
2��@����1���8�%�&'  9%2
�����:+�9@27����1����+���
�1���8�
2��������&)�&��++�����
��8�%�&'  (<2��8�
2����9+�&��++�����
� 
 �*2�%�&'  9%2 �+���6�%�&'���9��������*2�%�&'
����*%��������,  9������&) 2  12� 3 : �*2�%�&'1��%��������,���
����)� (���@&�����+) 

                       
.  
��
�����&)��  
�����
��
�����&)����������2���� 1.5 1���8�%�&'  9�@���  �.  
 9%2
�������������,����
�������
�9�@��� 5.1.1  :+���� "�8�%�&'" ���@��� �.  %��+2��  "
��
�����&)��" ���@��� 
. 

             5.1.2  �8�%�&'�2����%�+@����
���9� 30 ��� 
 

 �8�%�&'>?'�%��������,���
����)��&)=�������<@��������=+2������%�+  ���2����%�+�����&)�2��@����=������ 30 ���  (���� T + 3  ����8����9� 
 T + 3 + 30 %�?� ���� T+2  ����8����9� T + 2 + 30 ���%������+������%�&') 9%2
�������������,����
�������
� :+����&����&����%����  
 "�8�%�&'" ��� "%���������%���%��
��
�����&)��" 1���8�%�&' �������  +���&' 

                       �.  �8�%�&'  ��+����
2��@����1���8�%�&'  ���+2��  +����&'�
2�����������@& (<2��&) (=���2��
�����+����&'�
2�����������   ��9@2��+�&)��'�
2�����=�2 �2�) 

                       1.  %���������  �8�
�������,����&)��6�%������������@����%�&'1���8�
2�  >K)�=+2 �� 
- %��������,���
����)�>?'�1���8�
2�>K)������=+2@����
��>?'�9%2���3�� 
- �����,����&)�8�%�&'����������6�������9������c+���@&>?'�1��%��������,+2�������+������3�� 
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.  
��
�����&)��  
��
�����&)��1��%��������� =  %���������  x  �����
��
�����&)��1��%�����������'� 
 ���
������8�
��%���������   ��
��
�����&)��1��%������������������� R 9%29@2���V,+���&' 

- �����+  :  
������8�
��:+�9@2*����������&)�8�
2��������� ��� +����&'�
2�����������@& (<2��&)  ��
��
�����&)��������� 0% 
- L/C  %�?�  %����?�
'���������&)���:+�
��
������@�,  :  
������8�
��:+�9@2�������&)=+2������
'��������   ��
��
�����&)��������� 0% 
- P/N  NCD  B/E �&)���:+��<����������� : 
������%�?��12� 2 ��a������9@2����  ����a� �������&)���/�����:+��<����������� 
- %����������?)����������1�����������  9%2
������8�
�� ��
��
�����&)��1��%�����������'������
& fixed-haircut approach   �&)���%�+

9������&) 3 : ��������� 
- ���&%�����������6�%�2�*+����&��9����+%��������,�2�����*���+2����� (1) ���3���&%������������*�����9�%�2�9+%�2�%�K)�%�?�=��   

(2) %�2�+���������6�%�2��&)���+%��������,�����/9%2���@�����%�+9%2�8�
2�>?'�%��������,:+���������+=�2����%�2���;�*������������>?'� 
(cash balance) %�?�=��  
%��%�2��&)��6�%���������+��������12�1������ (1) %�?� (2) 9%2
�����
��
�����&)��9������ 1.5 ���� 1������������&)���%�+  %�?� 

  %���12�1������ (1)  �� (2) 9%2
�����
��
�����&)��9������ 2 ���� 1������������&)���%�+   ��=�������2���� 100 1���8�
��%�2���'�  
           ��'��&'  ������%������������*����� 
?� ����&*�����%�2�9+%�2�%�K)��&)��6�%������������@����%�&'1���8�
2����������������������2���� 5 
1��*�����%�2��&)��&��@���� �2���'�%�+1�����3���&)���%�2���'� (���*���=+2*������ SIM 1�����+%��������,v) ��'��&' 9�������%������������
�����2���� 5 %�?�=�� 9%2������%���������1���8�%�&'��'����@&�����+ �����@&���,*�'�������   
g%���������%���%��
��
�����&)��h  %���<K�  g%���������h  ���@��� 1.  %��+2��  g
��
�����&)��h 1��%������������@��� 
. 

              5.1.2.1  %���������%���%��
��

�����&)��
�2�%�&' 

%���<K�  �8�
2�����&) "�8�%�&'" �)������%�?�������� "%���������%���%��
��
�����&)��" :+�9�@���  �.  1.   �� 
.  9%29@27����1���8�%�&' 
%���������   ��
��
�����&)��  ������+��  1���8�
2��������&)%���������%���%��
��
�����&)��
�2�%�&'  ��9�@��� 5.1.2.1   
 9%29@2 "�8�%�&'" 9�@���  �.  ��6���������,����
�������
� 

              5.1.2.2  %���������%���%��
��

�����&)��=��
�2�%�&' 

%���<K�  �8�
2�����&) "�8�%�&'"  ������� "%���������%���%��
��
�����&)��"   :+�9�@���  �.  1.   �� 
.  9%29@27����1�� �8�%�&'  %���������   
 ��
��
�����&)��  ������+��  1���8�
2��������&)%���������%���%��
��
�����&)��=��
�2�%�&'    ��9�@��� 5.1.2.2  ������ "���	
��	�
" �������  �.   
��	���� "�������������" �������  �.  �
�
��
 ��!�"�#�!������$ %� 

                  5.1.3  �8�%�&'�2����%�+@���� 
������� 30 ��� 

�8�%�&'>?'�%��������,���
����)��&)=��@��������
��>?'�%��������,   ���2����%�+@���������������� 30 ���  (�������� T + 3 + 30) 9%2 �+� �&��
�'�
���� 
	. (�����	
��	�
�
���� �.  )������	*+"�����	�,��� 5.1.2  (��0���������
�
��
 ��!�"�#�!����� 

5 
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     5.2  �8�%�&'���@&���,*�'�  �8�%�&'����9%2�82�?���?)�>?'�%��������, ���8�%�&'�?�%��������,1���8�
2���)�=��&)����K�9����@&���,*�'� (margin account) ���� credit balance  
���<K��8�%�&'9����3��+��������&)=+2:����*�����3��%��������,�?)� (refinancing)   ��=������8�%�&'�&)��8���%�������ij���2�����
��
+&  
������%�&'  %�?�7���@���� (�	���
	�*�	��2��
�3�������&	�
�'��
��4��
���#  ESOP  �����0����
56��	��2��
�3��� (�� ,��7� �����8
,����,����$�
 ���
�
���	
��	�
�
	�*� �����	
��	�
��	����4�������� ��� �'������8����	����3����
�'�4
	��
	3��
�0��)  9%2
�����:+�
���&����&����%���� "�8�%�&'" ���"%���������%���%��
��
�����&)��" 1���8�
2� �������h 

             �.  �8�%�&'  ��+%�&'
�
2��1���8�%�&'9����@&���,*�'�  >K)�������+2�� 
1. ���9%2�82�?�������?)�>?'�%��������, 9%29@2*���������9%2�82�?���?)�>?'�%��������, � ����&)������ 
2. ���9%2�?�%��������, ���8�
2���)�=�  9%2
������8�%�&':+�9@2��
����+1��%��������,�&)9%2�?� � ����&)������ 

             1.  %���������  �8�
��%����������&)��6����������@����%�&'=+2����b%���9����@&���,*�'�1���8�
2�   ��'��&' �y���%����������������&)�����<�����
�����
9����@&���,*�'�=+2  ��������/������������+2������z����������&)��������9%2�82�?�������?)�>?'�%��������, �����9%2�?�%��������, ���8�
2��&)��9@�
�8�
2��<������?)�1��@��,�(�y��������+  P/N  B/E  NCD  %�?� L/C  1���<�����������  ���
����  %�?�%��������,*+����&��)  ���
�����
�8�
��%���������1���8�%�&'���@&���,*�'�9%29@2���V,�+&����� 12� 5.1.2 

            
.  
��
�����&)��  ������+2��  
��
�����&)��1��%���������  ���+2��  
��
�����&)��1��%��������,�&)9%2�?�  +���&' 
       1.  
��
�����&)��1��%���������  ��6�
��
�����&)���&)���+*��%����������&)�8�
2�����������6�������  ��*�&�8�
���+��*���8�
�� 
 � ����&)������  9%2
�����
��
�����&)��:+�9@2���V,�+&����� 12� 5.1.2 >K)����<K������*�������*�����1��%���������  ����6�%�2��&)���+
%��������,�����/9%2���@�����%�+9%2�8�
2�>?'�%��������,:+���������+=�2����%�2���;�*������������>?'� (cash balance) +2��  
        2.  
��
�����&)��1��%��������,�&)9%2�?�  ��6�
��
�����&)���&)���+*������&)%�&'1���8�
2���*���)�1K'���?)��*��%��������,�&)�8�
2��?���?)� 
 1��@��,��&�8�
���8�1K'�*���8�
�� � ����&)������  :+�9%2
�����
��
�����&)�� =  �8�
��%��������,�&)�8�
2��?�  x  �����
��
�����&)��1�� 
 %��������,�&)�8�
2��?���'�  ��'��&' �����
��
�����&)��+�������  9%29@2������+&�����12� 5.1.2 
 "%���������%���%��
��
�����&)��"  %���<K�  "%���������" ���@��� 1.   %��+2��  "
��
�����&)��" ���@��� 
1. + 
2. 
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           5.2.1  %���������%���%�� 

��
�����&)��
�2�%�&' 

 %���<K�  �8�%�&'����&)�& "�8�%�&'" �)������%�?�������� "%���������%���%��
��
�����&)��" :+�9�@���  �1.  �2.  1.  
1.   �� 
2.   
 9%29@27����1���8�%�&'����9%2�82�?���?)�>?'�%��������,  �8�%�&'%��������,�&)9%2�?�(��
����+1��%��������,��'�)  %���������  
��
�����&)�� 
 1��%���������   ��
��
�����&)��1��%��������,�&)9%2�?� ������+��  1���8�
2��������&)�&%���������%���%��
��
�����&)��
�2�%�&'   �� 
 9�@��� 5.2.1  9%29@2 "�8�%�&'" ���@��� �1. + �2. ��6���������,����
�������
� 

            5.2.2  %���������%���%��          

��
�����&)��=��
�2�%�&' 

 %���<K�  �8�%�&'����&)�& "�8�%�&'" ������� "%���������%���%��
��
�����&)��"  :+�9�@���  �1. �2. 1.  
1.   �� 
2.  9%29@2 
 7����1���8�%�&'����9%2�82�?���?)�>?'�%��������,  �8�%�&'%��������,�&)9%2�?�(��
����+1��%��������,��'�)  %���������  
��
�����&)��1�� 
 %���������   ��
��
�����&)��1��%��������,�&)9%2�?�  ������+��  1���8�
2��������&)�&%���������%���%��
��
�����&)��=��
�2�%�&'   �� 
 9�@��� 5.2.2  9%29@2  "%���������" ���@��� 1.  %��+2��  "
��
�����&)��" ���@���  
1. + 
2.  ��6���������,����
�������
� 

6. �8�%�&'
����*�?� ��9%2�?�%��������,  �8�%�&'�&)���+*������?� ��9%2�?�%��������, 
     6.1  �8�%�&'�?�%��������,  �8�
2��&)�?�%��������,*�����3��  ��'��&' =��������&�&)=+2�&���������=�2 �2�9�����1���8�%�&'���@&���,*�'����12� 5.2  �����&�&)�8�
2���'�      

=�������� %��������,
?������?)��=1�&)����=�29������  >K)�9%2������9�12� 11 : �8�%�&'�?)�  
              �.  �8�%�&'  �8�%�&'�&)���+*�����9%2�?�%��������,  >K)�
�����:+�9@2�8�
��%��������,�&)�?������
����+ � ����&)������  %�?�<2�=���&9%29@2��
��?)� 

 �&)�%����� 
              1.  %���������  %����������&)�8�
2�����������6�������9�����?�%��������,  ��'��&'  �y���%����������������&)782����������?� ��9%2�?�%��������, 

 ��*�����6�%���������=+2��������/
��������� �.�.�.   �������/����������&)��&)��12��  ���%������
������8�
��%��������� 
 9%29@2���V,�+&����� 12� 5.1.2  :+�<2������+�&)�8�
2�����������6������������������/  9%2 ���
����6��������:+�9@2����� �����&)�� 
 �&)�����<�2�����=+2 � ����&)������ 
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.  
��
�����&)�� ������+2�� 
1. 
��
�����&)��1��%���������  9%2
������@���+&����� 12� 5.2 
2. 
��
�����&)��1��%��������,�&)9%2�?�  9%2
�+
��
�����&)��9�������2���� 5 1���8�
��%��������,��'� 

    6.2  �8�%�&'�����,������������ 
 

 

 ��6��8�%�&'�&)���+*�����3��=+2:�������,���=�9%2 ��7829%2�?�%��������,��?)���6�%�������������?�%��������,   
 9%2
�������������,����
�������
�:+����&����&����%���� "%���������%���%��
��
�����&)��1��%���������" ��� "�2���� 120 1�� 
 %��������,�?�" 1��
8������ ������� +���&' 

              �.  %��������,�&)�?� 
 

�8�
��%��������,�&)���3���?�  :+�
����������
����+ � ����&)������  %�?�<2�=���&9%29@2��
��?)��&)�%����� 

              1.  %��������� �8�
�������,����&)���3��%��������,=+2:���������
�{=����7829%2�?���?)���6�����������?�%��������, (=����������,����&)���3������&�������
�{ 
 �����=�*�����=�2���7829%2�?�  %�?�  L/C, L/G �&)���3��1�9%2
��
������@�,���9%2 ��7829%2�?�) ��'��&' �����,����&)��6� "%���������" +������� 
9%2
������8�
���@���+&����� "%���������" ���12� 5.1.2  

              
.  
��
�����&)�� 
 


��
�����&)��1��%���������  9%2
�����:+�9@2������@���+&������&)���%�+��� 12� 5.1.2  

       6.2.1  ���&���� 
 
 

%���<K�  ���&�&)%����������&)���3�����=�2���
8�������&�8�
��%���%��
��
�����&)��=�������2���� 120 1���8�
��%��������,�&)�?�  ��'��&' 9�@��� 
�.  1.  �� 
.  9%2 �+���+7����1��%��������,�&)�?�  %���������   ��
��
�����&)��  ������+��  1��
8�������������&)�12� "���&����"  
+�������   ��9%29@2�8�
��%������������@��� 1. ��6���������,����
�������
�9�@��� 6.2.1 

       6.2.2  ���&���%���������=�2���� %���<K�  ���&�&)%����������&)���3�����=�2���
8�������&�8�
��%���%��
��
�����&)�������2���� 120 1���8�
��%��������,�&)�?�  ��'��&' 9�@��� �. 
1.  �� 
.  9%2 �+���+7����1��%��������,�&)�?�  %���������   ��
��
�����&)��  ������+��  1��
8�������������&)�12����&  
g���%���������=�2����" +�������  ��9%2����y����8�
��%��������������&)=�������2���� 120 1���8�
��%��������,�&)�?� ���+2��  
 
��
�����&)��1��%��������� ��6���������,����
�������
�  (��������,����
�������
�9�@��� 6.2.2  ������� 120% 1��%��������,�&)�?� 
 ���@��� �. ���+2�� 
��
�����&)��1��%������������@��� 
.) 
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7. �8�%�&'>?'�1�������>?'�1������%�2� 
 

��6��8�%�&'�&)���+*�����������
����*��6���� ��>?'�1�������>?'�1������%�2�  

    �. �8�%�&' 7������%����      
        1. �8�%�&'�&)���+*������2��.���  %���<K� 7����1���8�%�&'1���8�
2� ��������&)���+*������2��.��������>?'�1������%�2�1���8�
2�
 �2�����%�?������,����&)
��%�?�9����@&(cash balance) =����&�����&)*�������7�1�+����&)���+1K'�*������2��.��������+������� (��'����&
�8�
2�������� ���8�
2��<����)  
        2. �8�%�&'�&)���+*�������2��.��������1���8�
2��<����  %���<K� 7����1����+1�+������
�%������ mark to market .��������1��
�8�
2��<���� ������� � ��'�����&)��2��.�������� ��'��&'9%2����y���.���������&)�8�
2��<����+����������=��=+2�������%�?������,��������
��6����������)��2� (initial margin)  

     1. 
��
�����&)�� 
��
�����&)�� =  �����
��
�����&)�� * �8�%�&' 
1. 9����&1��������
���2������� ���12� 7 �. 12� 1 9%2
�����
��
�����&)��9�������2���� 100 1��7����1���8�%�&' 
2. 9����&���12� 7 �. 12� 2 9%2
�+�����
��
�����&)����������2���� 0 ���%����8�%�&'�&)
�����=+29����&�&)���=���2����%�+���������&)

��������������/���%�+���%������������������� (margin) ���%�������&.��������>?'�1������%�2� (����&) T)  ��9%2
�+�����
��
�����&)��
��������2���� 100 9����&�&)�8�
2��<����=�����������������������9����������&)�����/���%�+ (����&) T+1)  

9%2
������8�%�&'>?'�1�������>?'�1������%�2� :+�����8�%�&'���@���  �. %��+2�� 
��
�����&)�����@��� 1.  
8. �8�%�&'/8��,���O��%��������, (TSD)  

      8.1 �8�%�&'�&)���+*�����>?'�1��       
%��������, 

��++�����
���%�������3�����/8��,���O��%��������, (TSD) �&)���+*�����>?'�1��%��������,������ �y��������&) TSD �&��+���
���6��8�%�&'  
  �����
2��@����������3�� (<2����3���&��++�����
���������� TSD 9�@��� T+3 ��6���'��*2�%�&' ���8�%�&' 9%2 �+���++�����
��&) TSD ��6��*2�%�&'
��'���6�%�&'��� 9����������@&��%�������3�����/8��,���O��%��������,  9������&) 2 12� 6. :+�=��9%2%����������+���
��&) TSD ��6��8�%�&') 
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      8.2 �8�%�&'�����,������������/��?)� 

�����)�
� 

 ����%�?������,����&)���3��*���%�?������6�������=�2��� TSD ��?)��12� g�������+ ��
�����&�%�� (clearing deposit) %�?������?)��*�����3��
=�������<+������������������
�������
�%�?���?)��*�����3���&������� TSD �������� settlement cap. %�?���?)������6���������?)�����?)�9+
����&) TSD �����/���%�+  ��'��&' 9%2����y��������&)
�+���*�=+2������@����
?����9� 1 �+?�� ���*������&)
�������6���������,����
����
���
�9�@��� 8.2 :+�=���&�������
������
�����&)��     

9. �8�%�&'������%�����@&�����>?'�1��   
����%�2�  

 

      9.1  �8�%�&'�&)���+*�����>?'�1�������
>?'�1������%�2� 

��++�����
�+2���8�%�&'��%�������3�����������%�����@&�&)���+*�����>?'�1�������>?'�1������%�2���'���?)����@&�8�
2� ����?)����@&���3�� 

9.2 �8�%�&'�����,������������/��?)�

�����)�
� 

 
 
 

����%�?������,����&)���3��*���%�?������6�������=�2���������%�����@&��?)���6� g%��������,��?)�
�����)�
� (securities deposit)h %�?���?)��12�      
g �������+ ��
�����&�%�� (clearing deposit)h %�?������?)����*�� ���3��7�+��+%�?����������9%2���+
�����&�%������������@����%�&'
9����+������
, %�?���?)������6��������?)�9+����&)������%�����@&�����/���%�+  
��'��&' 9%2����y��������&)
�+���*�=+2������@����
?����9� 1 �+?�� ���*������&)
�������6���������,����
�������
�9�@��� 9.2 :+�=���&���
����
������
�����&)��    

10. �8�%�&'��%�������3��%��������,
���������/ 

��++�����
��8�%�&'���3��%��������,���������/�&)���+*�����>?'�1��%��������,9����+%��������,���������/ �&)<8�������+8 �:+�%�������
������+8 ����������/ :+����&��6��8�%�&'�&)���+*��
������ OTC 9%2���=������8�9�12� 5.1 �8�%�&'>?'�%��������,���
����)� 

11.  �8�%�&'�?)� �8�%�&'�&)=���12�1������12� 5 <K� 12� 10 ���������@�� 
1. �8�%�&'
����*%��������, �������>?'�1������%�2��&)��8���%�������ij���2��  ���
��
+&  ������%�&'  �8�%�&'�&)�&�����7���@����  

���<K��8�%�&'+2��
������?)� R �&)
�+�����**���&����;�����=��=+2%�?��&������9+ R �&) �+�����8�%�&'��*�&���
2��@����%�&'��+��������6�
�������� 3 �+?��  �@��  �8�%�&'�&)%���������=��
�2�%�&'�&)=��@����%�&'��6��������� 3 �+?����+������  �8�%�&'1�+�����+���  �8�%�&'=����8�9�
.����&)*�@����
?�%�&'=+2  %�?��8�%�&'�&)=���>;��������%�&'  ��6��2�  ��'��&' 9%2���<K��8�%�&'����9%2�82�?���?)�>?'�%��������,����������,*�'��+��
+2�� 

2. ���=+2
2�����%�?��8�%�&'�?)� �@�� 
��
�����&��
2����� ��6��2� 

         �.  �8�%�&' 9%2 �+��8�%�&'1���8�%�&'�?)�  :+�9@2���V,�+&�����12� 5 <K� 12� 10 

10 
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         1.  �����&)�����6���������, 
����
���� 
 
 

1. �8�%�&'1���8�%�&'
����*%��������, �������>?'�1������%�2�����&)=+2�������� �������%�&'������3�� �2�  ����8���%����7���@�����y���
�����&)*�=+2������@�����������9� 1 �+?�� ���*������&)
����� ��'��&' =�����<K��8�%�&'1���8�%�&'����&)7�+��+@��������������%�+������'� �� 3 
��+��+������1K'�=�  
2. ���=+2
2�����%�?��8�%�&'�?)��&)
�+���*�=+2������@�����������9� 1 �+?�� ���*������&)
����� 

          
.  
��
�����&)�� 
��
�����&)��1���8�%�&'1���8�%�&'�����&)�����6���������,����
����  9%29@2�����
�����&)����������2���� 10 1���8�%�&'+�������   
:+�9�@��� 11 9%2 �+��8�%�&'�����&)�����6���������,����
���� ���@��� 1. %��+2�� 
��
�����&)�����@��� 
. ��6���������,����
�������
� 

12. ��������,�&)��&)��12��������3������ 9�@��� � 9%29@2
���&)
�����=+2*��@��� (�) 9������+���12� 1 <K� 3 1�������&) 6 : �������&)��&)��12��������3������ 
9�@��� 
 9%29@2
���&)
�����=+2*��@��� (
) 9������+���12� 1 <K� 3 1�������&) 6 : �������&)��&)��12��������3������ 
9%29@2
��*��@��� (
) �&)
�����=+2��6���������,����
�������
�  

������������������������  

13.  
�����&)��  :  *��������*�����1�� 
�8�%�&'���,*�'� 

���+*������&)���3��9%2�8�
2��82�?�������?)�>?'�%��������, ��9%2�?�%��������,9�*������&)��������  ���&9+���&%�K)�  +���&' 
- �2���� 15 1������������  9����&�&)���������� > 100 �2����� 
- 15 �2�����  9����&�&)���������� < 100 �2����� 

       �.  �8�%�&'  �8�%�&'1���8�%�&'����&)�12����V,���*�������'�%�+ 
 

       1.  ����������  ����1��782<?�%�2���� ��������.���������� (��. 2) �&)���3��=+2*�+���9%2��������������+������������&)���%�+ ��� %�?� %��+2�� 
 ������)����%�?�����+���   
9%2
�����
��
�����&)��+���&' 

- ���&�&)���������� > 100 �2����� 
  
��
�����&)�� = 7����1�� [10% 1�� (�8�%�&'1���8�%�&'�&)�12����V,���*����� ������� � 15% 1������������)] 

- ���&�&)���������� < 100 �2����� 

��
�����&)�� = 7����1�� [10% 1�� (�8�%�&'1���8�%�&'�&)�12����V,���*����� ������� �15 �2�����)] 

11 
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 14.  
�����&)��  :  *������&
������1�� 
%��������,:+��&�����*�>?'�
?� 

 9%2
�����
��
�����&)��1�� ����
8������  +���&' 

       �.  %��������,  9@2�8�
�������
����+ � ����&)������1��%��������,1��:+��&�����>?'�
?�  <2�=���&  9%29@2��
��?)��&)�%����� 

       1.  ��
�>?'�
?� � �L**����  ���������
�1�� ���+2�� +����&'�
2��*��� � ����&)������ 
 +����&'�
2��*���  =  ��
�1��  x  �����+����&'�>?'�
?�  x  ����������'� ������&)1��%��������,<K�����&)������ /365 ��� 

     14.1  ���&���� %���<K� ���&�&)%��������,�&)1�� (>K)���6����?��%������������@����
?�%�&') �&�8�
��=�������2���� 150 1����
�>?'�
?� � �L**���� 
(>K)����&�����?���8�%�&') 9�@��� �.  �� 1. 9%29@27����1��%��������,  ����
�>?'�
?� � �L**���� ������+�� 1��
������1��%��������, 
:+��&�����>?'�
?�����������&)�12� g���&����h >K)�9����&�&'=���&���
�+
��
�����&)��   

14.2 ���&%��������� > 150%  
�8�%�&' 

 

%���<K� ���&�&)%��������,�&)1�� (>K)���6����?��%������������@����
?�%�&') �&�8�
�������2���� 150 1����
�>?'�
?� � �L**���� 
(>K)����&�����?���8�%�&') 9�@��� �.  �� 1. 9%29@27����1��%��������,  ����
�>?'�
?� � �L**���� ������+�� 1��
������1��%��������, 
:+��&�����>?'�
?�����������&)�12����& g%��������� > 150% �8�%�&'h  ��9����&�&' 9%2
�+
��
�����&)��9�@��� 14. ������� �8�
�� 
%��������������&)���� 
?� ������� g�8�
��%��������,h ���@��� �. %��+2�� 150% 1�� g��
�>?'�
?� � �L**����h ���@��� 1.  

15.  
�����&)�� : *�������������� 
���*�+*��%���� 

 

9@2
��
�����&)���&)
�����=+2*�� 12� 3 1. 1�������&) 4 : 
�����&)��*�����������������*�+*��%����%��������, 

16.  
�����&)�� : *������&.����������
���������/ �����
�� 

9@2
��
�����&)���&)
�����=+2*�� 12� 2 �. 1�������&) 5 : 
�����&)��*������&.�������������������/ �����
�� 

17. 
�����&)�� : *������1�+1�� 
���3������ 

9@2
��
�����&)���&)
�����=+2*��12� 4 1�������&) 6 : �������&)��&)��12��������3������ 

18. 
�����&)�� : *�������6�782������1��
����������&������ 

9@2
��
�����&)���&)
�����=+2*����
&�&) 1 %�?���
&�&) 2 1�������&) 8 : 
�����&)��*�������6�782������1������������&������ 
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19. 
�����&)�� : *�������6���� ��>?'�1��
�����>?'�1������%�2�  


�������?)��8�
2�=�������<�������������=+2���9������&)�����/���%�+  ������������ (margin) %�?������,���9� cash balance 1���8�
2�
�2�����������%�?��8�
��%������������3����� (MM) �&)�2���&���%�������&.���
�
2�� (total open interest) � ��'�����&) T+1  
���
�����
��
�����&)�� 

1. ���  (�����%�?��8�
��%������������3����� (MM) * *����������>?'�1������%�2� (total open interest) 1���8�
2�) � ����������%�?�
����%�?������,���9� cash balance 1���8�
2��y�������&)=�������<������������� ���9�����&)�����/���%�+ 

2. %�7����1����������1���8�
2��������&)
�����=+2��� 1. 
20.  ��������,����
�������
� %���<K� ��������,����
���� %��+2�� 
��
�����&)����'�%�+ :+�
�����=+2*��7����1����������,����
�������
���������� 

9�12� 1 <K�12� 12 %��+2�� 7����1��
��
�����&)�����������9�12� 13 <K�12� 19 
21.  %�&'������ 9@2%�&'�������&)
�����=+2*��12� 13 1�������&) 2 : %�&'���  
22.  ��������������
�������
� %���<K� ��������,����
�������
� %��+2�� %�&'������ >K)�
�����=+2*��������9�12� 20 %��+2�� ������9�12� 21 
23.  %�&'�����)�=� 9@2%�&'�����)�=��&)
�����=+2*��12� 19 1�������&) 2 : %�&'���           
24.  �����,����&)�2�������6������� %���<K� 7����1��*����������,����&)�8�
2��2������������6����������%���.��������>?'�1������%�2�1���8�
2��&)
�
2����8� �y����&)�&��� 

>?'�1��9�/8��,>?'�1����������/���+2�������&�� ��������%���������9����>?'�1�������v  ��'��&' 
�����*�� *����������>?'�1��
����%�2� (total open interest) 1���8�
2������� � ����&)
����� x �����%�?��8�
��%����������&)/8��,>?'�1������������/���%�+9%2�8�
2�     
�2�������������%�������&.��������>?'�1��v  

25. �����������������������
�������
�
���%�&'�����)�=� 

%���<K� �����������������������
�������
��&)���3��%��������,�2��+����9%2=+2���������&)���%�+ :+�
�����=+2*������������ 
����
�������
� ���12� 22 %��+2�� 7����1��%�&'�����)�=����12� 23  �2�9%2 �+�
����6�������2���� (%)  

26.  �����������������������
�������
�
���%�&'�����)�=� �������,����&)�2�����
��6������� 

%���<K� �����������������������
�������
��&)���3��%��������,�2��+����9%2=+2���������&)���%�+ :+�
�����=+2*������������ 
����
�������
� ���12� 22 %��+2�� 7����1��%�&'�����)�=����12� 23  �������,����&)�2�������6����������12� 24   �2�9%2 �+�
����6�
������2���� (%)  
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������� 2  :  �����
�  
 �����
����  

 1.  �����82�?�  
     1.1  *���<�����������9������/  �����82�?����������*���<������������&)��6�������� ��=�����<K������82�?�+2�����
��&)�&����
��%�?�������� 1 �� ���*������&)������  

  �������82�?����12� 10.4 : �����82�?�*���������%�?����3��9��
�?� ��'��&' 9%2 �+��8�%�&':+�=�����+����&'�
2��*��� 

            1.1.1  
��
������@�,  
��
������b%������+2�����
��
������@�,  

            1.1.2  �<������������?)�  �<���������������z%������+2��+����&'�����9%2�82�?�1���<�����������  ����%�?�*��
��
������@�, 

     1.2  *�����������/  %���<K� �����82�?��&)��6���������������������/ ��'��&'9%2 ���
����6�������� :+�9@2%������V,+���&' 
- �������&)=���&����j�����
�����&)��  9%29@2 spot rate � ����&)������ *�� %����&)�2�����=+2 
- �����&)�j�����
�����&)����������>?'�1������%�2� / swaps  9%29@2���������������'� 
- �����&)�j�����
�����&)��:+�>?'� options  9%29@2 rate �&)+&������%���� spot rate ��� rate �������� options ��'� 

 2.  %��������,1��:+��&�����*�>?'�
?�  %��������,�&)���3��1��:+��&�����*�>?'�
?� =�����
8������*���6�
��
�� %�������/=�� %�?�
8�������?)� ��'��&' 9%29@2��
�1�� ���+2��  
+����&'�
2��*��� � ����&)������ 

 3.   �*2�%�&'1��%��������,���
����)� 
(���@&�����+)  

��++�����
��*2�%�&'1���8�
2��&)>?'�1��%��������,+2�������+ 

 4. �*2�%�&'
����*�?� ��9%2�?�%��������,  
      4.1  �*2�%�&'%��������,�?�   �8�
��%��������,�&)���3���?���*����

��?)�9%2���<K������&)���3���2��������%��������,9%2 �� TSD 9����&�&)���3����'�=���&%��������, 

��8�9�
���
���9%2 �+��8�%�&'�����
�����1�������+1��%��������,�&)�?� 
 

      4.2  �*2�%�&'�����,������������      �����+%�?������,����?)��&)�8�
2�:��9%2���3����?)���6�����������?�%��������,  ��'��&' =�����<K����&�&)�8�
2��?�%��������,7������@&���,*�'�  
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 5.   ���@&�8�
2�  
      5.1  
����*%��������, *����������&)�8�
2���6��*2�%�&'1�����3�������?)����*�����������
����*%��������,1�����3��  >K)�=+2 ��  ����1���8�
2��&)����������?)� 

���:�@�,9����>?'�1��%��������, =�����*���6��������������?)���6�����������82�?���?)�>?'�%��������,%�?���c+���@&�����+%�?�����?�     
%��������,��?)�1��@��,�   �������?)� R �&)���3��%��������,���=�2 ���8�
2� (�@��  +����&'� �����L�7� ��6��2�) 

       5.2  
����*�����>?'�1������%�2� 
 
 
 

*����������&)�8�
2���6��*2�%�&'1�����3�������?)����*�����������
����*�����>?'�1������%�2�1�����3�� =�����*���6��������������1�'��2� 
(initial margin)  �����������������&�����)� (call margin) �&)�8�
2�=+2���=�2������3����&���2�� �2�  �����<K�7����=�1�+���������*����� 
mark to market �8�
��%��������� �������?)� R �&)���3�����=�2 ���8�
2� (�@��  +����&'� ����
��1�������>?'�1������%�2�1���8�
2�  ������
�� 
premium ����&)���+*����� write ������
,1���8�
2���6��2�) 

  6.  �*2�%�&'/8��,���O��%��������, (TSD)  ��+���
��*2�%�&'1�����@&��%�������3�����/8��,���O��%��������,>K)����+*��������
����)�>?'�1��%��������,1�����3��  (+8�����&) 1  12� 8  : 
 �8�%�&'/8��,���O��%��������, ������) 

 7.  �*2�%�&'������%�����@&�����>?'�1��
����%�2�  
 

 ��++�����
�+2���*2�%�&'��%�������3�����������%�����@&������&)���+*�����>?'�1�������>?'�1������%�2� ��'��&)���+*�����>?'�1����?)����@& 
 �8�
2� ����?)����@&���3�� (���&���3���&��++�����
�+2���8�%�&'9%2 �+���++�����
�+2���8�%�&'��6������,��� 9�12� 9 �8�%�&'������%�����@& 
�����>?'�1������%�2�) 

8. �*2�%�&'��%�������3��%��������,
���������/ 
9. %�2��82 ��������%�&'�?)� R 
(=�����%�2��82/������%�&'+2�����
��&)�&    
����
��%�?�������� 1 ��) 

��++�����
��*2�%�&'���3��%��������,�&)���+*�����>?'�1��%��������,�&)�&���>?'�1��9����+%��������,���������/�&)<8�������+8 �:+�%�������
������+8 ����������/ :+����&��6��*2�%�&'�&)���+*��
������ OTC 9%2���=������8�9�12� 3 �*2�%�&'1��%��������,���
����)� 
%�2��82%�?�������%�&'�?)��&)���3�������6�%���.��9�����82�?�����*����

��?)�   ��=�����<K�����������������82�?����12� 1  ��%�2��82 
  +2�����
�%�?�������%�&'+2�����
��&)�&����
��%�?�������� 1 �� ���*������&)������  9%2 �+�:+�9@2�8�
��������@& 



�������� 	 
��
�� 1 �.�. 54  

        16 
��	
�� ��������	 

 10.  %�&'����?)�  %�&'�������������&)=�������< �+�=�29�������12���2� 
 

      10.1  +����&'�
2��*���  +����&'�������@& � ��'��+?�������+ �y��������&)���3�����=��=+2@���� � ����&)������ ��'��&' =�����<K�+����&'��&)���+*��������%��������,1�� 
:+��&�����*�>?'�
?� >K)�=+2�����8�9�12� 2 : %��������,1��:+��&�����*�>?'�
?� �2� 

      10.2  ��3& ��
��9@2*���
2��*���  ��3& ��
��9@2*���
2��*���������@& � ��'��+?�������+�y��������&)���3�����=��=+2@����9�����&)������ 

      10.3  7��������@&��%�������������
9%�� ����1� 

 ��++�����
��*2�%�&'9����@&��%�������1�����������9%�������1�/����������?)� 

      10.4  �����82�?�*���������%�?� 
���3��9��
�?� 

 �����82�?�*��������� ������� ���3��9��
�?� (���3�� �� ���3������ ���3������) %�?�782<?�%�2�9%�� (782<?�%�2��&)<?�%�2����������2���� 10 1�� 
 ���*+����&����'�%�+) 

      10.5  �?)� R  %�&'���%�?��*2�%�&'�?)��&)=�������8�9�12� 10.1-10.4  �@��  ������@��>?'� (hire purchase)  ������@������������ (financial lease)  >K)�9����&�&' 
 9%2 �+���+%�&'�&)�%�?� %�?� ��&'������&)��*���+*�������������������'�  �2� ��*�����9+*��)������  <2�������9+�&*�������'� ���2���� 20  
 1����+��� 12� 10.5 : �?)� R  9%2���������+��������� �+�=�2 ����6� ����������1��������  (��&�����+��*�����=��2��) 9����+�� 
 <�+=�+2�� 

 11.  ����78����  ����78����1�����3��>K)���*���9%2���+����%�&'���=+29����%��� �����*���+*�����
'�������� ������ �������a�����9%2��

��?)� (�@�� ���3�� 
 9��
�?� ��6��2�)  ���<K������&)���3��*��2��@��������%�?������,���9%2��

��?)���?)����+�%������?�&)���%�+=�2 :+��&)�����%����&'=������z 
 9�������������� 
 12. %�&'���������
,����������  

 
 
 
13. �����
���� 

�
�'��
�
$!�
%" ��	�����
 $	���	��   �'�
�'  ,��7� �����8
3���
 ��!�"�
$!�
%" ��	�����
 ����
8������ (counterparty) ��������	�
 ;<������66�
��,$����=
�����	����		�,�
�'�������	�
0�� ����	��	=�	�
�'��
�
$!�
%" ��	�����
 ������
3�������3�
�*0��  (���
	�*� ��,��7� �
�
       
2&���	 Derivatives warrant  ����	��;4'�����
�������	 ��!�" (��,��7� 0����	��;4'�	��,�������
,�6��,��7�  ���
3��>!������$ %� ����������&�
������3�
�*�
���
����
�'��
�
$!�
%" ��	�����
  
7����1��12� 1 <K�  11 (=�����%�&'���������
,����������9�12� 12 ��?)��*��<8����
�����9�����1�����������9����3�� portfolio concept 
 �2�) 
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�����
��
�"#  
 14.  �����82�?� / %�2��82   ( > 1 ��) �����&)=+2
�&������%���������=�2����*2�%�&' �2� 

 �����82�?� %�2��82%�?�������%�&'������������12� 1 %�?� 12� 5 �&)�&���%�+��������@����
?��������� 1 ��  ��� ������&)������  ��=���&��?)��=1
���@����
?��������%�+���9��������� 1 �� =�����*���6���?)��=1�&)���+*�����9%2���
�782�82%�?�7829%2�82=<�<���������%�+ (put/call option) %�?�
��?)��=1�?)�9��������+&����� �y��������&)=�������8�
�������,����&)=+2�����6�������=�2����*2�%�&' �2� ��2� ����6���?)��=1�&)=+2������7���7��
*����������� ��'��&' ���3���2�����������������%���.���&)������?)��=1���@����
?��&)@�+�*� ������2�������������� ��������1����+ ��
�&)���)����������+���������6�%�&'������/3  
          ��'��&' �����,����&)=+2�����6�������=�2����*2�%�&' 9%2%���<K��y��� ��!�"��
������	�	*+"�����	�,���	
��	�
������ 5.1.2 ������
 �� 1 
���
	�� $
�#�!������$ %� ����2� L/C ��4��
���4��'3�
��	�
 ����	)���8�,�
	�����
  ��0�����0���
�

��	�
����=���
�'�!4������=���
�'���� %�
��
4����	
��	�
����&	�
�'�
 ��=3�
�� =3�
3� ��4���,$����� %���
4����	
��	�
���	���� )��������� mark to market  ���� ��
8<��&����

5==$,�
 

 15.   %�&'������/3����&)
��������� 
�.�.�. �����/���%�+ 

 7����1��12� 2  12� 4.2  12� 5  ���*2�%�&'%��������,�?� (12� 4.1)  ��%�&'���������
,���������� (12� 12) �y��������&)=�����������8�
��
�����,����&)=+2�����6�������=�2����*2�%�&' �2�  ��'��&' �����,����&)�����6�����������*2�%�&'9%29@2���V,�+&�����12� 14 

 16.  ����78���� ( > 1 ��) �����&)=+2�&���
���%���������=�2����*2�%�&' �2� 

 ����78�������12� 11 �&)�&���������@�+�*���� �*2�%�&'�&)��*���+1K'�=���&���
���&��9%2�&���@����%�&'���9� 1 �� ��� ������&)������ �y��������&)
=�������8�
�������,����&)=+2�����6�������=�2����*2�%�&' �2� ��'��&'  ���3���2����������������+������� ������2�������������� ��������1��
��+ ���&)���)��������78������'���6�%�&'������/3  
            ��'��&'  �����,����&)�����6�����������*2�%�&'9%29@2���V,�+&�����12� 14  

 17.  %�&'������/3�?)�   %�&'������/3�?)�����&)��������������/���%�+���)����� 

 18.  ���%�&'������/3  7����1��12� 14 <K� 17 

 19.  %�&'�����)�=�  7����1��%�&'���������12� 13  ��%�&'���������
,�������������12� 12 %��+2�� %�&'������/3���12� 18 
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������� 4 : ����������%�����
�����&��� ���%�'%(������ 
���������) 

9%2 ��. �&%�2��&)
�����
�����&)�� *�� g�8�
���&)9@2��6�.��9����
�����h  
8�+2�� g�����
�����&)��h  :+�9%2��*����*���������&�++�����=��&' 
1.  �8�
���&)9@2��6�.��9����
�����  9%2 ��. �&)�12����&9+���&%�K)����12�������&'
������8�
���&)9@2��6�.��9����
����� ��������&+�����=��&'   
���&�&) 1   ��. >K)���6�782������������*�+*��%����%��������,*��782����1��%��������,:+���� (=�����*���6�  lead %�?� co-underwriter) %�?� ��. 
>K)���6�782������������*�+*��%�������*�� ��. 782*�+*��%����%��������,����?)� (sub-underwriter) 
                 g�8�
���&)9@2��6�.��9����
�����h 1�� ��. =+2 �� �8�
�����������������*�+*��%����%��������, %��+2���8�
��+�����=��&'   

1.1 �8�
��1��%��������,�&)�&���������������*�+*��%������� (sub-underwriting commitment) =+2 �� �8�
��%��������,�&) ��. 782��� 
���������*�+*��%�������*��2�����7�+@��>?'�=�2���<2�=�������<*�+*��%����=+2%�+   

1.2  �8�
��1��%��������,�&)782������12����������&)*�>?'�%��������,�&)�&���*�+*��%����9�*������&)���� �������� ��. 782��������� 
���*�+*��%���� (legally binding commitment to subscribe) :+�782�����9%2%���<K�  782������&)�&���@?)�+�����=��&'  

�. 
��
������@�, 
1. ���3��������� 

. ���3��%��������, 
�. ���3���&)=+2���9���������6���� ��>?'�1�������>?'�1������%�2� 
*. ���3����������� 
y. ������

�>K)��&�b%����y���*�+��'�1K'� 
@. 
��
�� %�������/=�� 
>. �<�������������%���������/ 
�. ������@��� ����.����%��*����b%������+2����
&����������� 
�. ��������?)����i���i8 ������������<����������� 
b. ����������%�;*������12���@��� 
z. ��������������&'��@&� 
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 .. ��������� 
V. ������

�>K)��&782<?�%�2���6���

���� � <K� z <?�%�2����������������2�����*;+���%2�1��*�����%�2��&)�&���
������&����'�%�+  
�. 782��������������/>K)��&���3���+&�����782�������� � <K� . 

       ��'��&'  9%2���<K�782������?)�����%�?�*�����@?)����12���2��&)=+2���%�����������?)����>?'�%��������,=�2 �2�  :+��8�
���&)%��=+2 
9%29@2�8�
��1��%���������%���%��
��
�����&)�� �2��y����&)=�������8�
��%��������,���������&)*�>?'�������'�   :+�9%2
�����
��
�����&)��1�� 
%���������:+���
&�+&��������
�����
��
�����&)��%���������1���8�%�&'>?'�%��������,���
����)�9�12� 5 1�������&) 1 

1.3  �8�
��1��%��������,�&)�<���������������b%������+2��+����&'�����9%2�82�?�1���<������������12����������&)*�>?'�%��������, 
�&)�%�?�*�����*�+*��%���� (contingent agreement to purchase)    
             1.4  �8�
��1��%��������,�&)���3�� ��>K)�=+2������*�+���+��
�������@?)�<?�=���)��������+���&)�������� (investment grade : BBB and up 
%�?���&������)  ����6����3��*+����&��9����+%��������, %�������/=���12����������&)*�>?'�%��������,�&)�%�?�*�����*�+*��%���� :+�
���3�� ��*��2��<?�%�2�9����3��%��������,=���)�������2���� 50  ��'��&' �8�
��1��%��������,�&)�����<%�����*���8�
����������������� 
*�+*��%����*��2��=�����������������1������1��782<?�%�2�1�����3�� ������&)����z9������������+�����+>K)�7���������*���:+�782���
���@&��������� 
 

 
 
 
 
 
 
 
 
 

���&�&) 2   ��. >K)��12����������&)*�>?'�%��������,�&)�&���*�+*��%����9�*������&)���� �����*��782������������*�+*��%���� (legally binding 
commitment to subscribe) 
                 g�8�
���&)9@2��6�.��9����
�����h 1�� ��.  =+2 ��  �8�
��1��%��������,���������&)*�>?'�%��������,+������� 
���&�&) 3   ��. >K)��12����������&)*�>?'�%��������,�&)�%�?�*�����*�+*��%����*��782������������*�+*��%���� (contingent agreement to purchase)  
                 g�8�
���&)9@2��6�.��9����
�����h 1�� ��.  =+2 ��  �8�
��1��%��������,���������&)*�>?'�%��������,�&)�%�?�*�����*�+*��%���� 
+������� 
 ����%�?�*�����&12���2�  %�� ��. �&��
&���+����������?)�9+�&)*��+
�����&)��*�����������������*�+*��%����  �����������*
��*����7���7����6�������& 
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 2.  ���������&)<?�����&
�����&)�� 9%2�K+%���+���&' 
      ���)��2����
�����&)�� : ��'� ������&)�����%�?�12�����������������*�+*��%����1�� ��. �&7�9@2���
������b%��� 
      ��'���+���
�����
�����&)�� : ����&) ��. �827������&����;�����*���8�
2� ������� (:+� ��. *��2���&������%���.����;�=�2���%���9%2 
������������*���=+2) %�?�����&)�����%�?�12�����������������*�+*��%������'���+��  �2� �����& 
3.  ���
�����
��
�����&)�� 9%2 ��. 
�����
�����&)��*�����������������*�+*��%���� *�� �8�
���&)9@2��6�.��9����
����� 
8�+2������� 

�����&)�� ��?)����=� �+�9� ��������1�������&) 4 �����
&+�����=��&' 

1.  ������%�&'/������%�&'�&)�&
���3��
�2����� 

%���<K�  %�2��82  %�2��82 �������  %�2��82
��9����
�� �+����
��&)*�>?'�%�2�  ��a� ������   �������� %��%�&'�?)� 
        9%2 �+���6���� issue  :+�
�����
��
�����&)�� *�� �8�
���&)9@2��6�.��9����
�������� 1 
8�+2�� �����
�����&)��+�����=��&'   

    1.1  %��������,��.���%�?�
��
,���1����./������%�&'�&)�&
�<�����������������  
'�������� 
�����/ 
�&��������;� 

         1)  ��. �&)�12�������&�&) 1  �� 3  �2���� 50  1�������
�����&)����������� position risk 1����������'��&)���%�+���9�2��
&  fixed-haircut 
approach  ����&)����9������&) 3 : ��������� 

     1.2  ������%�&'�&)=���&�<���� 
������� ������  
'��������  �����/ 
�&������=����;� 

         2)  ��. �&)�12�������&�&) 2  �2���� 100 1�������
�����&)����������� position risk 1����������'��&)���%�+���9�2��
& fixed-haircut  
approach ����&)����9� �����&) 3 : ��������� 

2.  ���������/%��������,�?)� %���<K�  %�2������  %�2���������
�  9����
�� �+����
�  %���������  �����'�%��������,�?)�9+�������������%�?�*���&) �+�9�12� 1 12���2� 
2.1 %��������,�&)=���&��
����+ %���<K�  ���������/%��������,�?)��&) ��. ������������*�+*��%����  :+� 

2.1.1  %��������,%�?��������������+&�������'����=��=+2*+����&��9����+����&)*�+��'��������6�������  ���&���<������
,�&)*����%��������,�12�
*+����&��9����+����&)*�+��'��������6���������'� ��'��&'  =������������1��+�������*���6��������1�� �����@�@���)�=���6�
��'� �� (initial 
public offering) %�?���6��������1�� ����

�9���*����+ (private placement)   
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 2.1.2 %��������,%�?��������������+&�������'�*+����&��9����+����&)*�+��'��������6������� ��=���&��
�>?'�1���&)�����<���2�� current 
value  1�� %��������,��'� �����?)����*����� 

    (1) <8���)�%2�����>?'�%�?�1����6����@�)�
��� ����6�%��������,�&)��8�9�%��+ REHABCO %�?� 
            (2) <8���)�%2�����>?'�%�?�1����6����@�)�
��� ����6�%��������,�&)���3��782���%��������,<8�%��������&)������+8 ��<������������12�
 ��� >����+��������� %�?� 

     (3) ��6����&�?)�9+>K)����3��%��������,=+2%��?������������� �2� ������������%;����%��������,��'���6�%��������,�&)=���&��
����+��� 
12��&'=+2 

    ��'��&' 9����& (1)  �� (2) ���3��782���%��������,+��������2����8���%����+�����������?)�1�9%2��*����������
����)�%2�����>?'�%�?�1��
��6����@�)�
���+2��   

 

 2.1.3  %��������,%�?��������������+&�������'�=���12�1������ 2.1.1  ��=���12�1������ 2.1.2 
:+�9%2 �+���6����%��������,   ��
�����
��
�����&)��*���8�
���&)9@2��6�.��9����
�������� 1 
8�+2�� �����
�����&)��+�����=��&' 
          �.  ��. �&)������������*�+*��%����%��������,���
���%���9� 2.1.1   �� 2.1.2 

(1) ��. �&)�12�������&�&) 1  �� 3  �2���� 50 1�������
�����&)�������� position risk 1��%�2���� SET 50 �&)����9������&) 3 : ����
����� 

(2) ��. �&)�12�������&�&) 2  �2���� 100 1�������
�����&)�������� position risk 1��%�2���� SET 50 �&)����9������&) 3 : ��������� 
          1.  ��. �&)������������*�+*��%����%��������,���
���%���9� 2.1.3 

(1) ��. �&)�12�������&�&) 1  �� 3  �2���� 50 1�������
�����&)�������� position risk 1��%�2�������+%��������,�&)����9�����  
�&) 3 :  ��������� 

(2) ��. �&)�12�������&�&) 2: �2���� 100 1�������
�����&)�������� position risk 1��%�2�������+%��������,�&)����9������&) 3 : 
��������� 
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2.2 %��������,�&)�&��
����+ %���<K�  ���������/%��������,�?)��&) ��. ������������*�+*��%����  :+�%��������,%�?��������������+&�������'�*+����&��9����+����&)
*�+��'��������6������� : 9%2
�����
��
�����&)�� *�� �8�
���&)9@2��6�.��9����
����� >K)�=+2��*������������%���� g�8�
�������
�����1��h ��� 
g�8�
�������
����+%���%��
��
�����&)��h 
g�8�
�������
�����1��h  %���<K�  �8�
��1��%��������,�&)������������*�+*��%���� : 9%2
�����*����
�����1��1��%��������,+��������&)
���%�+�����������������������*�+*��%����
��'��&' 
g�8�
�������
����+%���%��
��
�����&)��h %���<K�  g�8�
�������
����+h %��+2�� g
��
�����&)��1��%��������,h 
g�8�
�������
����+h %���<K� �8�
��1��%��������,�&)������������*�+*��%���� : 9%2
����������
��&)���2�� current value 1��%��������,
�������+&������&'�&)�&���>?'�1��9����+����&)*�+��'��������6�������  � ����&)������  :+�9%2+8�������&�+9������&) 3 : ���������  %��+�&) 1 � :  
���
������8�
����������� 
g
��
�����&)��1��%��������,h %���<K�  
��
�����&)��1��%��������,�&)������������*�+*��%���� : 9%2
�����*���8�
�������
����+1�� 
%��������,+�������  
8�+2�������
�����&)����������� position risk  �&)���%�+���9�2��
& fixed-haircut approach 9������&) 3 : ��������� 

 2.2.1 �8�
�������
����� 
 1�� < = �8�
�������
�
���+%���%��
��
�����&)�� 

���&�&)%��������,�&�8�
�������
�����1���)������%�?���������8�
�������
����+%���%��
��
�����&)��1��%��������,��'� � ����&)������9%2
�����

��
�����&)�� *�� ����������%���� g�8�
�������
�����1��h ��� g�8�
�������
����+%���%��
��
�����&)��h 
8�+2�� �����
�����&)���2���� 0 
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        2.2.2 �8�
�������
����� 
        1��  > �8�
�������
����+ 
        %���%��
��
�����&)�� 

 

 

 

 

 

 
 
 
 

���&�&)%��������,�&�8�
�������
�����1���8������8�
�������
����+%���%��
��
�����&)��1��%��������,��'� � ����&)������ 9%2
����� 

��
�����&)�� *�� ����������%���� g�8�
�������
�����1��h ��� g�8�
�������
����+%���%��
��
�����&)��h 
8�+2�� �����
�����&)���2���� 100  
(%�?���������8�
�������
�����1�� �� �8�
�������
����+%���%��
��
�����&)��)    
9����&�&) ��. ������������*�+*��%����:+�������%��������,�12�9����@&1�����3���������*�+*��%����%��������,  9%2 ��. 
����� �� �+�
������+���&' 
1) 
�����
�����&)��*�����������������*�+*��%����%��������,�@���+&�������
&�&)�����12���2�  :+�
�����*�� �8�
���&)9@2��6�.��9� 
���
����� 
8�+2�� ������2����1�������
�����&)��1�� ����������%��������,�&) ��. ������������*�+*��%����  ��9%2 �+���6���� issue %�?�
���%��������,  �2� �����&  =�29������&) 4 �@�����  [��. =���2��
�����
�����&)��*��������&)�� ���1����
�1��%��������,  
(position risk) =�29������&) 3 : ��������� �&�]   
2)  �+��8�
��%��������,�&)������������*�+*��%������6���������,����
����1�� ��. =�29������&) 3 : ���������  :+�
�����*����
� 
����1���&)���%�+�����������������������*�+*��%����  ��'��&' %�� ��. �&���+����������?)�9+�&)�����<�+
�����&)��*�������������� 
���*�+*��%����������3���&)�����12���2� ��. *��2�������8�
��1����������,����
�����+���������*�����+�������+2�� 

3.  ��� ���
��
�����&)��1��12� 1  ��12� 2 9�12� 3 1. 

 
 
 
 



�������� 	 
��
�� 1 �.�. 54  

        80 
��	
�� ��������	 

������� 5 : ����������%�������+��&
��
�,��,�����&��"-�&����(� 
1.  .�������������������/ �����
���� �����
�� 

 

 
 
9%2 �+���������������,/%�&'����&)��6�����������������/ �����
��  :+� �� �+���6��������  ��9� ��������9%2 �� �+� ���������� 
��2���8�
���&)��6�����������������//���
��   ��'��&' 9��������K��8�
����������,/%�&'��� 9%29@2%������V,�+&������������K���������,/%�&'��� 
9������&) 1  �� �����&) 2  �����������K��8�
��1��������j�����
�����&)������ R 9%29@2�2���������������'� (nominal value) 

     �.  ��������, / long   %���<K�  ��������,�&)��6�����������������/ �����
��   ��������&)*�>?'�%�?����9%2=+2�������������������/%�?����
����'� �@�� �����>?'�1��
����%�2�   (forward, future, swap)  ���
��&)*�>?'�����������������/ �����
�� (options) ��6��2� ��'��&' 9%2 �+���+��������,9� ������������6�      
�����������������������/ �� �����+��������,+�������9%2��6�������� :+�9@2 spot rate � ����&)������*�� %����&)�2�����=+2   

     1.  %�&'��� / short   %���<K�  %�&'����&)��6�����������������/ �����
��   ��������&)*�1��%�?����9%2�2��*�������������������/%�?����
����'�  ��'��&' 9%2 �+���+
%�&'���9� ������������6������������������������/ �� �����+%�&'���+�������9%2��6�������� :+�9@2 spot rate � ����&)������*�� %����&)�2�����
=+2   

 2.  ����.�������������������/ ��
���
�� 

 9%2
�����+���&' 
  1.  ����K���+���1����������, / long   ��%�&'��� / short  1�� ������������ �����
�� 9�@��� (1)  �� (2) ������+�� 
  2.  %���+���
� (net position) 1�� �������� �����
��9�@��� (3) :+����@��� (1) %��+2��@��� (2)   <2� 
       7����
,��6���� %���<K� ��+���
���6���������, (net long)  %�?� ��+���
���6���� 
       7����
,��6��� %���<K� ��+���
���6�%�&'��� (net short)  %�?� ��+���
���6��� 

      �.  ��+������
��&)��6���������,  
�����=+2*����������+���
�1����������&)�&��+���
���6���� ����2���+������
����
��  
      1.  ��+������
��&)��6�%�&'���   
�����=+2*����������+���
�1����������&)�&��+���
���6��� ����2���+������
����
�� ��'��&' 9%2 �+�
��:+�=�� �+��
�?)��%���  ( �+�
���&)=+2

��6�*��������) 
      
.  ��+������
����
�� 
 
      �.  
��
�����&)�� 


�����=+2*����������+���
�1�����
��=�����*��&��+���
���6����%�?���  ��'��&' 9%2 �+�
��:+�=�� �+��
�?)��%���  ( �+�
���&)=+2��6�*��������) 
9%2
�����
��
�����&)�� ������� �2���� 8 1�� 
���&)���������%���� ��+������
�������������&)��6���������,   ����+������
�������������&)��6�%�&'���  
 �2������������
��
�����&)�� �2���� 10 1����+������
����
�� 
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������� 6 : ���������������/0����� 
                 ��
#������ 

9����&�&)���3���12�=������9����3��9+9����3��9+���3��%�K)�+�����=��&' 9%2<?�������3���&)���3���12�=��������'���6����3������1�����3��
��������&) 6 �&'   ��9%2���3�����������
�����
��
�����&)��=�29������&) 6 +2��  
(1) ���3���&)���3��<?�%�2�=�����:+�������%�?�����2�����������2���� 50 1��*�����%�2��&)�&���
������&����'�%�+1�����3����'� 
(2) ���3���&)���3��<?�%�2�=�����:+�������%�?�����2�����������2���� 25 1��*�����%�2��&)�&���
������&����'�%�+ ����6�782<? �%�2����9%��

���+��%�K)�1�����3����'�+2�� 
(3) ���3���&)���3���&��� ��+������� %�������������������K)�%�K)�1��*��������������'�%�+1�����3����'� 
��'��&'  9%2���3��*�+��� 7�7��:
����2��1�������>K)�������+2�� ���3�� �����3������+�������12���2�  ��2����'� �+���+�������<?�%�2� ��  
��+����1����������&)��6���� ��*�����3�� ������� �������� �.�. 4/1  9�
��'� ���&)�����������&) 6  �����
��'��&)�&������&)�� ���
:
����2��1������� %�?����&)�� �����+�������<?�%�2�%�?��������9����3������   

1.  ��������� 9%2���3�� �+������������������'�%�+9����3������ �@�� %�2������ %�2���������
� %�?�%�2��82 ��6��2�  :+�=��9%2�����6���������,����
���� 
2.  ��������,����
�����&)9@29���� 

�����������+������
����*1�� 
���3������  

9%2���3�� �+���������,1�����3���&)9@2��?)������������+������
����*1�����3������ �@�� ����O��
��
��%�?���a������9@2�����&)���3��9@2��6�
����������82�?�1�����3������ ��6��2�  :+�=��9%2�����6���������,����
���� ��2� �����3��=+2����K���������������+������
����*1�����3��
������6�����78�������12� 7 1�������&) 2  �2� 9%2�����������,�&)���3��9@29���������������+������
����*1�����3������+���������'���6�   
��������,����
����=+2������� 

3.  ����9%2�82�?� �����3������  9%2���3�� �+�����������9%2�82�?� �����3������:+�=�������6���������,����
����  ��'��&'  =�����<K��8�%�&'������+*�����������
����*����
1�����3�� 9����&�&)���3��9%2�82�?� �����3������:+����3�����������������,�������6�������  ���3�������<�������9%2�82�?���6���������,   
����
����=+2��������8�
��%�����������'�%��+2��
��
�����&)��1��%���������  ��=�������8�
������9%2�82�?�   ��'��&'   9%2
�����
��
�����&)��1��
%����������@���+&�����%���������1���8�%�&'>?'�%��������,���
����)�9�12� 5 1�������&) 1 
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���12� 1 <K� 3 9�@��� (�) 9%29��7����1��12� 1 (�) 12� 2 (�)  �� 12� 3 (�)  ����=�9��9�@��� 11 (�) 1�������&) 1 
9�@��� (
) 9%29��7����1��12� 2 (
)  �� 12� 3 (
)  ����=�9��9�@��� 11 (
) 1�������&) 1 

4.  
��
�����&)��*������1�+1�� 
���3������ 

9%2����������1�+*�����3������ ��2����'� �+�7��������1�+1�����3������������3�� �����7�����&)=+2=�9��=�29�12� 13 1�������&) 1:  
��������������
����   ��'��&'  ����1�+*�����3������   ����*������6� 2 ���& +���&' 
(�) 9����&�&)���3��������6��<������������&)��8����9�2���������+8 � (regulated entity) 1��%��������y����&)���%�2��&)������+8 ����������


����*1�����3������+�������  ��%��������y�����'��&12����%�+9%2���3�������2��+������������������&)���%�+ (regulatory capital)  

����� g����1�+*�����3������h *�%���<K� ��������������1�+ (shortfall of regulatory capital) �&)���3������=�������<+����=+2��� 
%������V,�&)%�������������+8 ���'����%�+  ��'��&'  9%29@212��8����������@�+�����+�&)���3�������?)����%�������������+8 ���'�   

(1)  ���%������3������9����&�?)����*���&)�����9� (�)  
����� g����1�+*�����3������h *�%���<K� ����1��782<?�%�2��&)�&�<�����6���1�� 
���3������ (negative shareholders� equity) >K)�
�����*��7����
,�&)��6���1����������,���%��+2��%�&'�����'�%�+1�����3������ �� 

      =�����<K�%�&'����&)���3�������&������3��%��������,  9%2 �+�:+�=���2��9���
�?)��%�����=�2%�2�*�����+������� ��'��&' 9%29@212��8���� 
       ���������y��������+1�����3�������&)������:+�782������@&��������� �2�   ��9����&�&)���3�������&������)�%�?��+������%���*��

����&)9����������y��������++������� ���3��%��������,��*���12��8�������)�%�?��+���+�����������������12��8�������������y��������+
1�����3��������?)����:�@�,9����
�������������������
�������
�1�����3��%��������,=+2 

9%2���3�� ����������� (�) %�?������������� (1)  �2� �����& ����� �������� �.�. 4/1 �&)���9%2��������� %�����3����� �������� 
�.�. 4/1 ��6�������9%2 �� ��������+��������y���
��'� �� ����?)��&������&)�� ���12��8� 
 

������� 7 : ����(���2�
������) 
                ������������3
 
                ���'0�������
��&�&���� 

9����&�&)���3��=�������<+������������������
�������
�=+2������V,1�'��)���&)������������%�+ 9%2���3�����������
�������������,
����
�������
�%��+2��%�&'���������'�9������&) 7 +2�� (���3���&)�����<+������������������
�������
�=+2������V,�&)���%�+=���2��      
������9������&') 
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������� 8 :  ����������%�������5�
670��&���/�������������
��&��� 

9@2
��
�����&)��*�����
�������
&9+��
&%�K)� +���&' 
��
&�&) 1  Standardised approach  9����&�&'9%2<?����?�����782������1������������&��������6�7821�� put option >K)���� �����
�����:+���
& 
Standardised approach *�9@2%������ ����
,�������?'�.�� (Building-block approach : +8�������&�+%�2� 70-73) :+�<?����?�����  7821�� put 
option ������ long the underlying asset >K)�9��&)�&'
?�%���������9�*������&)������� 1 - option delta 
8� current value  of the  underlying asset  ��
������ short zero-coupon bond �&)�&����
��%�?������������
��%�?�1�� option  ���&�8�
��%�2���a� (face value) ������� 
�8�
����������� 
8�+2��   [1 - n(d2)] 
 

������
, �<�����&������ 
(equivalent position) 

���
�����
��
�����&)�� 
General market risk Specific risk 

short put 
option 

1. long the underlying asset  
= (1- option delta) x current value of the 
underlying asset (NAV) 


�����7�1�+���*�����
���&)�� �����
� option �����
& 
scenario approach  

����<�����&�������&)=+2=�
8�
�����
�����&)��%��������� 

2. short zero-coupon  �&)�&����*�<K����
exercise date 1�� option 
= (�8�
�����������  x (1-n (d2))  
                             (1+rt)

t 

����<�����&������=�
8������ 

�����&)��1��������%�&'  

=���& 

  
              ��'��&' ���
�+
��
�����&)�� specific risk �����6�782������1������������&������9%29@2
��
�����&)�����������&)  8 : �����
�����&)�� 
1��%���������9�%�2� 53 
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 ��
&�&) 2 
��
�����&)��*�������6�782������1������������&������ = �8�
���L**���� (�����2��&)��������� + 7���� ���&)��������� (<2��&))  
                                                                                                               - NAV 1�����������    
     9����&�&)
��
�����&)��*�������6�782������1������������&�������&
����+��9%2<?���� =���&
�����&)��*�������6�782������1����������� 
      �&������   
      %����%�� : (�8�
���L**����9%29@2�����
�+�++2�� risk free rate �&)�&����
��%�?������������1��������) 
 

 
 


